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I semester B.com. Examination, November/December 201g

(CBCS) (2014-15 and Onwards) (F + R)
COMMERCE

1.6b : Methods and rechniques for Business Decisions
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Time : 3 Hours
Max. Marks : 70

lnstruction : Answer shoutd be comptetely either in English or in
Kannada.

SECTION _ A

Answer any five sub-questions. Each sub-question carries two marks. (5x2=10)
1. a) Find G. M. between g and 16.

b) Find HCF of 165,231 and 550.
c) Give the meaning of Equation.
d) ls 101 aterm of theseries S +7+ g. . . ?
e) FindA+Bif n=[-' ol*-[-t ol

Lo -2j- [o 1J

f) Find out fourth proportional to the numb er 12,16, 1g.

g) out of debt of Rs. 50,000, Frs. 18,000 has been paid what percent of thedebt still remains unpaid ?

SECTION _ B

Answer any three questions. Each question carries six marks. (3x6=l$;

Simplify, Il **-2 - *-314217
A sum of 3 numbers in A'P. is - 24 andtheir product is 2gB. Find the numbers.
Solve by Cramer's Rule Sx + 3y = 

.l

3x+5y+g=0
5. Solve the equation through elimination method.

XVXV
-*1--+, _1:22.
4 5 5 4

2.

3.

4.
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6. A man had a certain sum of money. He gave 2A% d it to his eldest son, 307o
of the remaining to his younger son and 10"/" of the remaining for poor boys
in a school. Still he has Rs. 10,000 with him. Find his total sum.

SECTION * C

Answer any three questions. Each question carries 14 marks. (3x14=421

7. a) Find the number of terms and the common difference in the series when
the first term is 5, the last term is 24 and the sum is 2g0.

b) tr matrix o = [.'^ .ll ,.0 B = [: ]l ,no* (AB), = 8,A,.
112 16-] [o 2)

B. a) The third term of G. P. is 12 and 6'h term is 96. Find the sum of 4 terms
and common ratio.

b) Solve through formula method * * 1 = 2! .x 10

9. a) Find the inverse of Matrix A = [? 4l

12 2l
b) A lady invested a total sum of Rs. 9,500 in two different Banks which give

5% and ,lr"simple interest. lf both the amounts are going to be equal

in 7 years. Find the individual investment.

lo -2 -41
10. a) Solve for x if 

I 
x 2 -,1 = o

l-s 3 xl

b) 5. goldsmith can earn Rs. 48,000 in 6 days and working 8 hours per day.
How much will 8 goldsmith earn in i2 days working 6 6our per day ?

11. a) A, B and c enter into partnership with Frs. 50,000, Hs. 30,000 and
Rs. 20,000 respectively. A and B get 2A"/o and 1A/" of the profit for special
effofis and the balance is share in capital ratio. ln total if A receives
Rs. 6,000 more than B. How much does each receive ?

b) The difference between Banker's discount and true discount on a bill due
after 6 months at4o/" p.a. interest being Fls. 20. Find.
1) True discount
2) Banker's discount

3) Present value
4) Face value of Bill
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(5x2=10)

1.a)9drq16ddd);-d3i-tsJrir^,s43g5;1+iJd:#JLG'3rU'
b)

c)

d)

e)

165, 231 d:dl 550 noa3rrls u3:.xa.e'' doC)badro'

Ba:eddea aodded: ?

101n0{C})5+7+9...iCnoaodd{,tedo$S-ado3:e?

o =l-' o 
-l 

, - [-1 0l oac A + B o$& dod:baoi:o."-[o -2)- [o 1.] - d'

12, 16, 18 d ane$ ddrd%de dcd.:&EcCI:o.

50,000 do. raede-18,000 da. boDd:Aierofld. drrl me-:d adldedaamd:

edq zs8 eruqod ?

^.on* oqc;q)at I - q/

o}?dmddo 3 {)d,rl9rl rudOtu' {,Oo3,ocd: {r5o-ro 6 erodrl#:' (3x6=18)

x-1 x-2 x-3
14217

3. Sdnoaodd $edol:opd 3 io{rltj droq - 24 il)d) er$dtr d:saozJ 288 esndd

s doa3^ rl$dl dodltso& o}:o.

4. di ia:eddraib rldrqdroef 6ad di'Dco

5x+3Y='l
3x+5Y+9=0

5. drld otdod dqso$e-dsnd itueddmdd{ z}atu.

I*I=I*!--1=zz.
4 5 5 4

6. ueg do{cr: d{ z"r+ q$d prled dcode)*dedd 20 dd* tooo$ drd&ri doc)qd.

dcJo erupodJJ deade)*dedd 30 dd*Bocr t:iled deed:sod. dodd eru90d)d

deado_ deEd 10 dd1 mdoS: z,:d d:d:dod Eod:Ed. amrddo erdd u*

dra. 10,000 "adrdd. otrodd erdd zr9 qqz.uUd"9dd.1dod:bGdro'

f)

s)
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(3x14=42)
7' a) 

::3I*P*?9d grs*Sarode:a ^lcairoJ::5, tiiodoj: icsj"oJ:.:24 drdc

?JSH *3' 
2 e 0 es n c d q, e ro *: e_a: r r 3 "q d,r.b* *, n, ; ;d; ;;r;#.

rs 41 [s a1b) o = L; ,i-] *'* t = L; l1="t(AB)' = B'A' ccrJ rhe oi
B' a) rbrdoedd drescJ":3de #c 12 eb$ 6de dd g6 sdd na;inc, 6d,.m dr*one::s dCrle"j de$C.i,i dcd:erGcUOi

b) Cogrd C:oe;d zt&& 11 1 = Z9_ .x 10

9. a) adoeab foa:aucJ:dild1dod:&&o3)o O = [l 11
L2 zl

b) z"ar abbs d{ ue ai&d de. 9,500 ,,s* d^gd{ dedd 5 trQ t}xtrdg aad: oegc$o- ad& zJed e,ed ra^c*clo_ deils qlq.d:qd. e #;dededrrs.: 7 ddrde) ild:adand x^s*ir *"Jq*. ;-l; €. A.-frdeCS dDcd draddo ? 
r c(

lo _2 _+l
10. a) X d zJd dcd:Boao:^:o lx 2 _rl = O

l-u s -l
b) s a;ci z,ronadd tisr cDddtdr 6 esd$q €,.,ec g rrcoi doi &ae

3:f:t-P:is**cryoxr-3d. "addcd e ,.s re nsnse-Eeos 6 rrosov...i o>ttG oai: iomox:mc ? ..

11' a) 50,000 clo., 30,000 ao; ;$e 20,000 do. rrseoeriA, B drdo c z.cc;mu:mod,oi:d1 
B"ld.b. *,i*e 20% ilu) too/o _a, fBIr;;

3nL?,*1*R 
*:a:d;x-odo e,tpd *dl*o"u"f ".;; ;#;irrvcru..riviao. s-uio A ,1 B hcu 6,000 

1re.'aze*n "r-J rr€oJ.rz.:"orho{i: aii;i"e; n:,*,{u, i o *dd"1 dodia*ro.
b) 

ft;$i$ffir,3#"#T-J*;lord 20 cr erAd s d:c&ol>id dedd

1) cl,a C',oea

2) e:arodoci doe&

3) $rs) zid

4) *nd zJdo$.t dcd:&Gcl:O


